- o= NI'T ™

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL
47960 JE-ES-0028N-BB

00201 00096
00094
00643 .
00508 Big
00490
— 00492 P'9 00753
00641 .
00131 00507 Big
® 00178 00285 00266 00432 00183 c0ago, 00226 00225

00077

00152/ 00287 S 00086 00174 _~
00572 00668 00187 < 00916
00574 00084 00068 \.00179

00926 / 00924 00571 00289}, 00573 00436 00913\ 00224 ,00180

A

00220 ~

00136 00036

P ‘
00377 \ 00344 00908* 00838* 00108

00190 00285

00920
00173 00579 00921 \ 00086

00460

00300




PARTS BREAKDOWN

ITEM MODEL
47960 JE-ES-0028N-BB

00067

00177



o= NI"TM™

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL

47960 JE-ES-0028N-BB

STAINLESS STEEL SELF TAP OPTION

00904 00882 00934 00541
o
00929 00172
Loz,
00933 5 00541
00285 9 00286 00432
o R 00086
o
00668
00572 00084
00927 00924 00541 00574 \\\\\\\\ygg§z§1
29043
00926 29044 00289

AUTOMATIC SHOWER OPTION

00660 00662 00776 00211 & %

00753 00781 00772 ﬁ i \\00775
\ é TAB
00661 00886 8 ELEC 00781

00776 U ~00048 00771

% 00784 00781
00781 00174 ; 7?

00555

. 00188

00750



- o= NI'T ™

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL

47960 JE-ES-0028N-BB

DISPENSER STAND OPTION
00268 00027 00549
20208, /_____ 00549
00417/ l 00189 00500 _—

00247 /
N

00219 00417 00147 ~

00504 / /\ 00668
00440 00025

00084 _—

SELF SERVICE STAND OPTION
00340

00298 00958

/ 00287
\\\\\\\::54 00319

00025 / % 00767
N ©

—

00268 00026 00022 S— 00317

o|

00417 /' 00017 LIS 00694

00417 00530
00385 s 00709 00630

00504 / 00436 %




e = NI

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL

JE-ES-0028N-BB

47960

Item No. Description Position  Item No. Description Position Item No. Description Position
AP346 MB Grille Support for 47960 00017 A0259 Magnet Cap for 47960 00167 A0261 Female Thumbscrew for 47960 00249
AP347 MB Counter Adapter for 47960 00022 72520 C Clip Din 471 E-34 for 47960 00168 64117 Tap for 47960 00251
AP348 | MB Grille for 47960 00025 [l 72521 | JasherH DISDO%E Zine for 00171 AP354 | Rustless Screw for 47960 00268
AP349 MB Door for 47960 00026 AP160 Rustless Screw for 47960 00172 72534 Plastic Lid M4 for 47960 00285
AP350 | MB Door for 47960 00027 72644 X\;ags:;r H Zinc Din-125 D10 for 00173 72535 Plastic Lid M6 for 47960 00286
Rustless Washer Din-125 D08 Inox Female Thumbscrew M8 for
AP351 MB Trolley Holder for 47960 00028 72522 for 47960 00174 40592 47960 00287
A0256 Cover Screen Bal for 47960 00029 42173 Cotter H 8x7x70 for 47960 00175 72537 Male Thumbscrew M6 for 47960 00289
A0257 Cover Screen Right Lid for 47960 | 00030 72647 Rustless Cotter 8x7x50 for 47960 | 00177 72673 Reducer 14-160 R:1/28 for 47960 | 00294
A0258 Cover Screen Left Lid for 47960 00031 40590 Male Thumbscrew M8 for 47960 00178 64912 Reducer 14-160 R:1/20 for 47960 | 00295
AP352 Down Tube (SOP) for 47960 00036 64904 Screw H Zinc M8x20 for 47960 00179 64913 Support Bracket Stand for 47960 00298
72502 Screw H M8x30 Zinc for 47960 00048 72649 Screw H M8x50 for 47960 00180 72674 Baseplate for 47960 00300
72504 Cotter H 8x7x15 for 47960 00065 72650 Rustless Screw M8x16 for 47960 | 00183 64914 Handle Stand for 47960 00317
72506 | Rustless Cotterinox &770for | g7 N 72651 | Nut H zinc M for 47960 00187 64915 | Lid Handle Stand for 47960 00319
72623 Screw H M6x55 for 47960 00068 64906 Nut H Zinc M8 for 47960 00188 72541 Tray 150x120 for 47960 00322
72626 | Screw H M6x10 for 47960 00077 72526 5;‘;2355 Wingnut M4 Inox for 00189 AP355 | Plugging Cap for 47960 00340
72627 Bearing 6004 for 47960 00081 72653 Nut H Zinc M10 for 47960 00190 39695 Cover Screen for 47960 00344
AP159 Rustless Screw for 47960 00084 72655 Ejector Rod M12 for 47960 00199 AP356 Rustless Nut for 47960 00377
72500 i‘;;ggss Serew M4x10Inox for | 4406 39699 | Blade Ejector for 47960 00201 AP357 | Rustless Nut for 47960 00385
72630 | Screen Rod M8 for 47960 00088 64908 | Shaker Dispenser for 47960 00203 gaggp | Stand Support Tray Stainless 00409
Steel Dispenser for 47960
DC Hose Fixing PG9 V-Tec 9GR Plugging Cap PVC M4 Black for
72631 Squeezer Male for 47960 00094 72657 for 47960 00211 64923 47960 00416
72632 | Squeezer Drum for 47960 00096 6ag34 | Plugging Cap @16mm Black for | )., 64924 | Plugging Cap PVC M6 Black for | 5,5
47960 47960
72514 | Ventilation Grid for 47960 00108 72532 | Luggage-Rack 150x120 for 47960 | 00219 72564 E;‘;ggss Screw Méx12 Inox for | 459
72638 | Sump Cover for 47960 00129 72659 | Luggage-Rack 350x130 for 47960 | 00220 72565 | Rustless Washer Din-6798 D06 | 3¢
Inox for 47960
72639 Z;‘;‘ggt Juice Screen NA for 00131 72661 Gear Feeder 1 Reduct for 47960 | 00224 64925 Closing Device for 47960 00440
72640 Tray 350x130 for 47960 00136 72662 Gear Feeder 2 Cabez for 47960 00225 72691 Screw H Zinc M10x45 for 47960 00460
AP353 MB Dispenser Support for 47960 | 00147 72533 Gear Feeder 3 Horiz for 47960 00226 72693 C Clip Din-471 E16 for 47960 00489
Female Thumbscrew M12 for Stand Tray Rustless Screw M4x12 Blade Ejector Big D80-D100 for
40591 47960 00152 64909 for 47960 00247 14904 47960 00490




e = NI

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL
47960 JE-ES-0028N-BB

Item No. Description Position  Item No. Description Position Item No. Description Position
A0281 Blade Ejector for 47960 00492 64838 DC Shower Diffuser Cap for 47960 | 00661 A0273 Feeder Base Basket for 47960 00903
AP358 Rustless Screw for 47960 00500 64839 DC O-Ring for 47960 00662 AP369 Auto-F Motor Support for 47960 00904
Rustless Screw M6x10 Inox for Stainless Steel Tube Guide M6x25 ,
72573 47960 00503 64933 for 47960 00665 64119 Tap's Nut Valon for 47960 00905
AP359 Rustless Screw for 47960 00504 AP164 Rustless Nut for 47960 00668 A0274 Front Cover for 47960 00908
A0282 Squeezer Male for 47960 00507 AP367 Plugging Cap for 47960 00694 A0275 Gear Feeder for 47960 00911
A0283 Squeezer Drum for 47960 00508 AK899 Fixed Wheel for 47960 00708 A0276 Rustless Feeder Shaft for 47960 00913
A0263 Magnet for 47960 00509 AK900 Rotatory Brake Wheel for 47960 00709 72591 Washer H Zinc for 47960 00916
AP161 MB Down Tube Auto-F for 47960 00530 AO264 DC Valve for 47960 00750 A0277 Self-Tapping Insert for 47960 00918
Rustless Screw M2.9x10 Inox for Rustless Screw Din-85 M4x14 .
72580 47960 00541 44090 Inox for 47960 00753 A0278 Turning Feeder Plate for 47960 00919
40602 Juicer Dispenser Cover for 47960 | 00544 40603 Juice Dispenser Base for 47960 00766 A0279 Feeder Tube for 47960 00920
64926 | Rustless Filter for 47960 oosas | 6aoar | Rustiess ScrewMBSinoxfor | 55767 A0285 | Feeder Tube for 47960 00921
64927 Dispenser Support Inox for 47960 | 00549 64942 DC Adapter Male 6-1/4" for 47960 | 00771 AP174 Cover Screen for 47960 00923
72582 | Rustless SerewMS«i0Inoxfor | o555 N 6447 | DC Adapter Male 6-1/4"for 47960 | 00772 | AP175 | Filter Body for 47960 00924
AP360 Close Tray for 47960 00571 A0265 DC Elbow for 47960 00775 AP176 Filter Band for 47960 00925
AP361 0-Ring for 47960 00572 64849 DC Elbow 6mm for 47960 00776 AP177 Filter Base for 47960 00926
AP362 Spring for 47960 00573 64851 DC Hose 6mm for 47960 00781 AP178 Roller for 47960 00927
AP363 | Tap Pushbutton for 47960 00574 64943 2;:9'2'(\)’ alve Shower Support for 00784 79232 | Separating Rod for 47960 00929
AP364 Down Tube for 47960 00575 A0266 Frontal Sheet for 47960 00798 79231 Separating Rod for 47960 00930
AP365 Peel Bucket Base for 47960 00579 A0267 Plugging Cap for 47960 00809 AP180 Auto-F Dice for 47960 00933
AP366 MB Ramp L250 for 47960 00630 A0284 Frontal Sheet for 47960 00813 AP181 Auto-F Motor Cover for 47960 00934
64118 Coupling Tap for 47960 00635 64946 Trolley 52L for 47960 00818 AK904 Rustless Screw for 47960 00958
64116 | Tap's Washer for 47960 00637 64948 E?gég""er Top NA E-Tron for 00838 AP370 | Tap Bottle Support for 47960 29043
64115 Tap's Nut for 47960 00638 64868 Magnet 10-05 for 47960 00859 AP371 Tap Bottle Support for 47960 29044
64932 | Tap Nut Valon for 47960 00639 [l 6ag7s | Rustiess ScrewM29x13Inoxfor | 55gg, 64953 | Juice Dispenser Kit for 47960 70005
15403 i%zgzer Male Big D80-D100 for | ¢4 64952 | DC Tee 6mm for 47960 00886 AP372 | Juice Tray Kit for 47960 70012
15405 | Saueezer Drum Big D8O-D100 00643 | A0271 | Feeder Base Basket for 47960 00900 72616 | Feeder Tube Kit MX for 47960 70013

for 47960

64837 DC Shower Diffuser for 47960 00660 A0272 Head Feeder for 47960 00901 AP373 Juice Dispenser MB Kit for 47960 | 70015




o= NI"TM™

ELEVATING CULINARY EXCELLENCE

PARTS BREAKDOWN

ITEM MODEL

47960 JE-ES-0028N-BB

Item No. Description Position  Item No. Description Position Item No. Description Position
64954 Sump Kit Bigbasic BK for 47960 70023 AP376 Auto-F Kit for 47960 70045 AK247 Seal Protection Kit for 47960 70075
72738 Sump Kit BK for 47960 70024 AP377 Reducer Shaft Kit for 47960 70071 AP380 Seal Protection Kit for 47960 70076
AP187 Juice Filter Auto-F Kit for 47960 70040 AP378 Gear Kit for 47960 70072 AP381 Bearing Kit for 47960 70077
A0280 | Feeder Support Kit for 47960 70042 AK896 2'7"9’26 Rustless Shaft 1 Piece for | ;4,74

AP375 Auto-F Motor Kit for 47960 70044 AP379 Rustless Shaft Kit for 47960 70074




